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(For the candidates admitted from 2017-2018 msiwamv
B.Sc. DEGREE EXAMINATION, NOVEMBER 2018.
First Semester-

Mathematics

CLASSICAL ALGEBRA

Time : Three hours’ Maximum : 75 marks

PART A — (10 x 2 = 20 marks) -

Answer ALL questions.

2
1.  Find the coefficient of x" 'in G +2x +3x% + v .

Q +2x + 3x% + vw -6 x" -6t Qa(pameus STas.

2. If ‘@’ is a positive number, write a® in ascending

powers of x.

a aang Wes@Quar aafld, a*g x-a aeufleas

SDEGS ASTLITE GT(PSIS.

Write the necessary and sufficient condition for
AX = B to have a solution.

AX = B-5@ Siey @riugneren Caepeuwrer HmiD -

Gurgiwner sLHUUT ML GT(PIS.

If A is a square matrix, show that the
characteristic equation of A and A’ are identical.
Aceug @@ sgroiei aafld A wppd A’ -an
Apt9udLF sETUTHEET Geny STET aTar Hlne)s.
Write the relation between the roots and
coefficients of an equation.

@@ SN g6  APOBISET  HHID Qawein®

" Qe Guuwner QgmLmSenar eSS

Form the equation, one of whose root is V5 +43.
)\W.+)\w TS @ FLETLIM_IGGT G (PO aTaid
D\ EELDETUTL_GNL_& SHTERTS. )

Write the condition for an equation to be
reciprocal. ' :

@i swauTh s@OED FoEUTLTES @MUUSDHETET
SLOUUTL L (PG!S,

Diminish by 2 the roots of the “equation
2t +a®-3x" +2x-4=0. _

2t +x® —3x% + 2x -4 = 0 GTem  FLOETUIML lg 6o
pomsala@bs @rarmLs GmpésayLD.

2 , S.No. 2434
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10.

11.-

Show that x7 - 3x4 4 2,3 _1 = has atmost three 12.

real roots.

x"-8x' +2x3-1=0 6@ SfsLlen apan Qo
LPEISGET Q) HEGD 6Tam Bmeys. .

Write Descartes rule. :

QALsvamiev eldam TWPHEIS.
PART B — (5 x 5 = 25 marks)

Answer ALL questions.

(@ Sum to infinity the series
2-4 2.4.6 2.4.6-8. ;
—+ + + ceee00
3-6 3:6-9 3.6-9-12
m.»+m.g.m+m.5@,..m+ o s

6 3-6-9 3.6.9.12 - 18,
Qgm_Mer s Pz sHSY euamrs S s,
Or ,

(b) Sum to infinity the - series
1 1°+2% 1242743 .
—+ + — +..0.

1! 2! 3
1 HN+NM+HN+NN+%+ = S
T T C "
Qsm_fen saDpee shpsflouenrs srams. . .
3 S.No. 2434

(@

()

(@

(b)

Il
(=)

Solve x-8y-8z=-10, 3x+4y -4z
2x + 5y + 62 = 13.

Sés : x-3y-82z=-10, 3x+4y-4z2=0,

2x + 5y + 6z = 13.

Or
Find the characteristic  roots and
’ 1 2 3
or»uw%oimmn vectorsof A=|0 2 3
- 0 0 2
1 2 3 |
A=]0- 2 3|ar Apuy CPOBIGET LOHOILD
0O 0 2 )

Aty QausLmisemens srams.

Solve x® —12x% +39x — 28 = 0 whose roots
arein A.P.

x® —12x% +39x - 28 = 0 Gremm mEﬁnE:_.lﬁaw
POBGT  @ml(  euflasurs S@muler

SIDPOEISNETS SIS,

Or

Solve x* +2x® —5x2 + 6x+.2 = 0 given that
1+ /i is one of the root.

x* +2¢° —5x2 +6x+2=0 e

soaum e 1+ g o el

SiFFLELT g SismayLb. :
4 S.No. 2434
; [P.T.O.]
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“

14,

15.

(@

(b)

(a)

(b)

If a, B,y are the roots  of
ax® +bx* +cx+d =0. Find the equation

2

2 P2
whose roots are a“, 57,y

ax® +bx’ +cx+d =0-6@ a,B,7y PFumal
PPQBISET  GTleD Qm, B y:  afuepea
CLPEOEISETTES Q&TERTL FLOGITLITL_GHL_& &ITEHTs.

Or

Hbowmmmm the | ~ roots of
x* —x% —10x* +4x + 24 = ov%mmbm?wbom
.solve the equation.

x? - x3 -10x* +4x + 24 = Oen ELDGUEIGENGIT

 @uet() 2 WTSSIeUSET peotd Fuemiman g Sif.

Show that 3x° —2x%® —4x + 2 =0 has three
real and two imaginary roots.

3x° —2x% —4x+2=0 eram mr.o%r_:mnﬁ@@«

epenm Qo ppekiser LHHID Gre( sHLIGnET
PLPEOBIGET @ (HEGLD 6Teu [Hmeys.

_ O.H.. |
mﬁzzmnm )\l to four %SEE Emomm by
Newton’s method.

a\lw.m@.qu@.mmsm &@.&.@5:& E@FF@
apenpuier HNNHS. :

5 ~ S.No. 2434
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19.

20.

Solve 6x° +11x* — 33x°% - -33x% +11x+6 = 0.

6x° +11x* — 382 —33x% +11x + 6 = 0-g
SigsayLb.

Find the real root of x® +6x -2 =0 correct to two'
decimal places by using Horner’s Emngm
@z:gqac wenewLl EE%E@.&%

x® +6x-2=0-an Quou pOSns @a@ﬂ@ .&mS.&
S(BSsWLI&E sreas:

7 . S.No. 2434
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6. What are the two sources of collection of data?

7. Define graphs.

8.  Write the formula for the geometric mean and

harmonic mean.

9. What are the two kinds of measures of dispersion?

10. Define Lorenz curve.

11. (a)
(b)
12. (a)
(b)

" PART B — (5 x 5 = 25 marks)

Answer ALL questions.

In an arithmetic series, the 7th and the 9t

terms are respectively 16 and 20. Find the
nth term. '

Or -

Find the number of terms in the gedmetric
series 0.03+0.06+0.12+...+1.92.

2 3 5 3 "1 2
If A=|4 7 9| and B=|4 2 5|

1 6 4 . 6 =25
show that 5(A +B)=5A+5B. R -,
Or
. - "fa b
Find the inverse of [ \ ]
. c d
2 S.No. 1549

13. (a) Explain the primary data and secondary
data.
' Or
(b) Differentiate between Classification and
~ Tabulation.
' 14. (a) Calculate the arithmetic mean.
Marks : | 4050|5460 68]80 J Total]

No. of students : | 10 | 18 | 20 [ 39 ,15[ 8 [ 110 J

(b)

Or
Find the median from the following data :

Wage Rs. : 50 [ 75 | 100 | 150 | 250

Total |-

No. of Labours: | 8 [14| 10 | 5 | 3 | 40

15.

()

(b) -

Calculate mean deviation about median for
theitems:7 4 10 9 15 12 7 9 7

Or

E\}aluafe the standard deviation:

x:{0|1(2|38|4]|5
f:124302

g S.No. 1549

o el
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(7 pages)

S.No. 2435 17UMA02

(For the candidates admitted from 2017-2018 onwards)

B.Sc. DEGREE EXAMINATION, NOVEMBER 2018,
First MmE.mmﬁoH. |
Mathematics
DIFFERENTIAL CALCULUS
Time : Three hours . Maximum : 75 marks
PART A — (10 x 2 = 20 marks) ._ ,.

Answer ALL questions.
N b Of of
1. Define =(x,,¥,) and —(xq,)-
ox it oy
9 g
cuenywml - W.mﬁao,u\ov LOMMILD MWAROQOV.

0%u
dx By

2. Ifu=e”,find

o%u
Ox Oy

u=e” erafled -8 ETEHTS.

Scanned by CamScanner



10.

11.

Find the curvature of the curve r= asing at ﬁ—m
point (r,8).
r=asind erem eumateuanys@ (r,6) erenm L%ﬂmw@ .,

QUMETENGUS STETS.

"“Define Envelope.

cuaTw : Hped.

Find the ombﬂ.m of curvature of the curve xy=1 at -

1, 1. -
xy=1 aremp euemereuenéE (1, 1) eremm - yerafluded

QUENETE EIDWISENSE &HTETS.
PART B — (5 x 5 = 25 marks)
Answer ALL nmmmﬁobm.

show that

(@ If u=x+y% +2% +3xyz,
x@+ m|:+u@1w:
ox u\@ 0z
u=2x%+y°+2° +3xyz aaflé
a@iv.@inml:lw.:
ox "oy oz
ﬂmﬂ.&,@_oﬁm..
Or : ,
3¢ . 'S.No. 2435

»

12.

) If u=x*+y"+2%, x=¢', y=e'sint and

d
Nﬂmnom?mbmh.

dt
u=x2+y*+2%, «x=e', y=e'sint wHYO
z = ¢ cost erafléd gn -8 HNRTE.

dt

(@. If ,wulvcu! and w=x+y+zy®, find

mﬁ,:..c.:\v
mﬁxuv‘uuv :

(b) Find the

extreme
4x% +6xy+9y> -8x-24y+4.

4x% +6xy+9y2 —8x—24y+4 -6
wHUL ST STENS.

4 - S.No. 2435

[P.T.0]

values of

=ipd
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13.

14.

(@

(b)

@

(b)

. a a

P that r=——— and r=——

S T cos 8 1-cosé
intersect at each other orthogonally.
r= — 5 o _..o. r= — GTEm

1+cosé ol 1-cos® .
UMETEUMTSET — Qelann Qe  QEhiEEsTs
Gouiq.5 Qsmerend eram Hlmieys.
Or

Find the Pedal equation of r = a(1 - cos6).
r=a(l-cosfd) aam emaaemniar U

FLORTLML_GHL_& STeHTs.

Find the curvature of the curve Jx++/y=+a
at the point ﬁmymu s

44
Qu ;
— | eram

Jx+y=+a GTEIM GUENETEUEN (S mm&

Yerafludleh euenaTeneud STaims.

Or
Find the radius of curvature of the curve
x=a(@+sinf) y=a(l-cosd) at the point
% : ) .

x=a(f +sind) y=a(l-cosd) aré

aumeteursE 0 - aremp  Ljeréfluiiled aumare,

ATEMSE SIS,

5 S.No. 2435

.. o x% y? _
Find the envelope the ellipse — +@|N =1.
a

15. (a)

x% y
—_—
nxw

ST,

2 2
=1 e BaralLgdiE syelows

Or

(b) Find the chord of curvature of the curve
Rueﬂomﬁmman parallel to the y axis.
a

y=alog hmmn Mu GTGID CUENETEUGNTEE, Y -DNEFFEES
. m ;

LDETLITET QUENETE BTEDETS &TeRTE.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

16. If u=qx®+y%+2%, show that,

2 2
Mxmm.m+mmwm it R

ox 0y oz

! 3 L
u=4x+y?+2? aafle Manm|w+mmeu gu =0 eren
Ox 0y oz

Hyieys.

6 S.No. 2435
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17.

18.

19.

20.

Find all the extreme values of the function

1o &nam+em on the circle x? +y? =1.

x*+y° =1 eemp erw%g Gue f(x, .E x? +u\
erenm ETMADE Simd LHUILsmeS SretTs.

Find all the mm%Bﬁoﬁmm_ of the curve
3

¥’ —x®y—2xy® +2x° —Txy +3y2 +2x% + 26+ 2y +1=0.

3

3% —x%y—2uy? +2° —~Txy+3y* +

2x% +2x+2y+1=0-&@,

Qsrenes AsTRCHTEEmaTs STeTs.

Find the radius of o.sgmﬁﬁ.m .of- the curve

r* =a’sec20 at the point (r,6).
r’=a’sec20 erenm - CUEHETEUEN & (& ?,3 ,Q..m.ze
Lemefluflev euenerey prsemss snems. |

Find the o<oE_Um of the curve xy=c2.

xy=c® e QUENGCTEUEHTEE eUan] Qma_@m:r@m
S(ellenwis srems.

7 S.No. 2435
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'S.No. 2064 17UMAA01 s
(For the candidates admitted from 2017-2018 onwards) .;_._. / 5

B.C.A./B.Sc. DEGREE EXAMINATION,
NOVEMBER 2018.

First and Third Semester

ALLIED MATHEMATICS -1
ALGEBRA AND CALCULUS

(Common for B.C.A./Che/Geo/App. Geo/Ele/Phy/Stat/CS)

Time : Three hours Maximum : 75 marks
SECTION-A — (10 x 2 = 20 marks)
Answer ALL questions.

1.  Form the equation one of whose roots is V5 +4/3
V5 + )\me CLPGVEIEETITS .P@:IE sLOGTLIML 6oL & srains,

2.  State Descarte’s rule of ,mmmbm. , ; :
GOSL iy Harer Q_Ia.caq?.lﬁ,mi elHenwd sagm.

.. (-1 .3
3.  Find the eigen values of g.m matrix ﬁl 3 Nmu .

|Hw. . .. .
R |§%&§S%E£93mqgﬂ.

State Cayley Hamilton theorem.

Qaiied Gapier_ar Ceppéams eT(Wpgis.

Write the Cartesian formula for the radius of

curvature.

”...gl._asgﬂ ayrsdoar  srew  2gayd  &iesluier
| @pfrsos a@g.

Write the parametric formula for radius of

curvature.
umaTey <WTSHDETET  FEOMIDEG —EUMUILITLIqenerT
CT(LPSIS.

Form the partial differential mnzumou by
eliminating arbitrary constants ¢ and b from

z=ax+by+a® +b%.

z=ax+by+a*+b® Omps ~ aCsiams wnhlaer
a,b-g 358 LuEH umEEQE1Y FLETLM 1A TIPEIS.

Form the partial differential equation by
eliminating arbitrary function from z = \.ARN +y°).

z=f(x® +y*)Omps aCséms emiowu Bad E@.wm

UMESCS(LP FLOETUIMIG.EDEGT D ELDES.

2 . S.No. 2064
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1
Evaluate : ._.RG -x)%dx.
0

1
wHAIIPS : ._.RQ -x)" dx
J 4

Evaluate : ._.Rmma dx.
wHIAGs: [x%e* dx

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

(a) Show that the macma.ow
x"-3x*+2x° -1=0 has atleast four
imaginary roots. .

2" -3x* +2x% -1=0  @em swELN KHEG
. GPDHSULFD SHLMET (pO&mOISET GHEGL

eramuians HlemLal. )
) Or

() Prove that x° +x® +x? +x2+1=0 has one
real root which .is negative and eight
imaginary roots. .

2 +x’+at +2® +1=0 eamp sweLMGHEGE

@M GOnEWLW (posmNGEHD TL{H SHUMET

QprISEHLD 2 eTerer erar Flmieys.

3 S.No. 2064

Find the characteristic equation of

1 1 3
A=| 5 2 6
-2 -1 -3
1 1 3
L A=| b 2 6 T <jenfludlen
-2, -1 =8) !
AptiQwédy oL L& STeRs.
Or
Verify Cayley Hamilton theorem for the
) 2 1 1Y ‘
- matrix A=|0 1 0
| L1 T2
27 101 _
A={0 1 0| eem oefég Qaued
1.1 9. ;
CanfleoLanr Ceppsens sflumiss.

Prove that the radius of curvature at the
point AQ cos® 6,a sin® %v on the curve-

x¥ + y** = ¥ is 3asinfcosh.

%3 +Q§ =a¥? GTEMm QUAGTEUMNTE®S,
Aa.oomm 6, asin® %v aam  yetefller oisen
cuanaTey b 3asinfcosl eTes sTewTs.

Or .
4 S.No. 2064

,‘ . ~ [P.T.O]
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(b) Find the radius of curvature at any point on
the curve r" = a" cosné..
M = a" cosné  eremm cueaTeUATUIET GUENETE

Y TLD STENTE.

14. (a) Form the partial differential equation by

: Rm .w\w Nm .
eliminating a,b,¢ from — +-5+— = 1.
a® b ¢

2 em 22
—+ -+ =1lda,bcau &8 aumssdsy

a b c | ,

FLORTUTL_6HL D NLDES.

| Or =
(b) Form the vmwam;. &.mmmambﬁ& equation by
eliminating the arbitrary function from
"z = f(y +ax) + xg(y + ax).
z=f(y+ QRV. + xg(y + ax)-aS\mHs ﬂ@mm@w
gL Bédl LGH eumsstaw Foeamumiqemarn

D NLDGS.

zf4

15. (a) Evaluate: ._._omﬁ+ﬁmb &&m. |
o .

zf4 ;

oB9Gs. [log(l+tan §)dg

Or
5 " S.No. 2064
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19.

20.

Solve : (y+2z)p+(2+x)g=x+y.

& : Q+va+ﬁm+,avoua+w

/2
Evaluate : ._. x sin” x dx
0
_ /2 |
B%D_.e@a. ._..x mwb:nga

0

-S.No. mo_mw
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(6 pages)
S.No. 2442 5GE>8J

(For the candidates admitted from 2017-2018 onwards)
B.Sc. DEGREE EXAMINATION, NOVEMBER 2018.
| Third Semester
Zmnrmimﬁom

Core — DIFFERENTIAL HDGPHHOZm AND
LAPLACE TRANSFORMS

Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)

Answer ALL questions.
1.  Solve: Aﬁm leb+Sva =0.
Eiréa - Abm INSU+SNV.< =0.
2: Find the P.I. of AUN +¢Vv~ =x2.

Abn +Av.v\ = x? erémigerr %HDLW Qgrens snans.

Scanned by CamScanner

" Tind the complementary function of

A.aubN +xD + va\ =logx.

Ap,.ubx+aﬁ+pvwn_omx aramugen  Hgly  smieu
TPEIE.

2
E&ggo?nmlmxmﬁ@uxf
. x x
. :
%lemxmlv\lAeuaw aenugen  SApliy  Qsroms
x x
STETE.

Find the complete solution of p?+g®=1.
pegi=1 aeLgern WPWs Siwes erpgis.
Solve z = px+qy+ m,\Mm.

Siée N.u px+qy+ NE.

Find L(t* - 4t° +3).

8 L{t° -4t +3).

Find (Ifte)).

Qo&_m-& vv BE SNGTS.

-2 S.No. 2442




10.

11.

12.

Find th

Al

Find hl_ﬁ

S-3
(S-8y+4)

S-3 u .
DE STETS.

h;ﬂﬁw..m.%.rlavw D& SIS,

@

o)

(@)

PART B — (5 % 5 = 25 marks)
Answer ALL anmm,ﬁosm.
Solve Abm +4D +.va =e"cos2x.
Eiés Abm +4D+ wvu\ =e*cos2x.
, Or
Solve Abw +D- mv.z =¥yt
Siée Abm +D- mv.e =e¥x?.

2 . :
o MR MW +2y =sin(logx).
’ 2
Eige x Mﬂ+ Aa MW +2y =sin(logx).
Or
3 - S.No.2442

13.

14.

(b)

@)

®) .

(CVR

()

Solve (1+x)° |+G+&v Sy = log(1+x).

. 2 d*y dy
Siee (1+x) I +G+Rv&x

Find the ooEEmno and mSmEmn solution of
= Rb+.v5+h IQ

+y=log(l+x).

z2=xp+yq+p® -q? GTEND SLOGTUM g6l (WP (WP
Sia| HMILD RHODNS STeneus sres.

Or
mm?o ﬁ@ + Qv =qz

8iss pll+q)=gz. .

: t
Find AT% u

_ ot
hhu : w N HIEHTS:

14

Or

Evaluate Tm-m“ sintdt by using Laplace
0

transform.
@MLITE 2 HLTHDES 6 2 geflujL e
‘Tm-wh sintdt @& snens.
o . .
4 S.No. 2442

[P.T.0]
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o -1 ||||H
15.  (a) Find L ﬁmAm+yxm+wvw.

Lt ST P 86 snas.
S(S+1{S+2)

Or

b) 3:@ h;_ﬁ_omamw
L7 Homﬁ %w 0é STETS.
. Hbm«% C — (3 x 10 =.30 marks) -
) >:ms.\m~. any THREE questions.
16. Solve ﬂbw + Qk =i%cosx.
Mma.m&. Abm +Qp\ =x%cosx.

7. Solve:
Q
Qw

b 36y =32 +dx+1.

(Bx +2) -

Y +3(3x+2)2

A&N

Siss @ﬁmvm +w@x+wv||w$ 3x2 +4x+1.

5 S.No. 2442

18.

19.

"20.

Solve Aau - v\mvt + Cu - NRVQ =z —xy.

Sida (v - y2)p+ (v —2x)g =22 —xy .
(a) ~Find L(t2 cos2t).

(b) Show that L(t /()= 5@
(@) L[t cos2t) s sraimss.

(=) Le /)=~ 5@ arenmy Hlend.

Gmgw. Laplace transform solve the equation

2 .

MH +_n_" MW +13y = N@x,. given y(0)=0, v..ﬂoyn -1

y0)=0, y'(0)=-1 aaflé @micra 2 (HOTHDESLL
%y

LueTRSS ||+ 4— dy +13y =2¢™" g 8irés.

dt o

6 S.No. 2442
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(6 pages)

S.No. 234 = 17PMAED2

(For the candidates admitted from 2017-2018 onwards)
P.G. Umﬂwmm EXAMINATION, NOVEMBER 2018.
Second Semester
STATISTICS
HmBm : Three hours - Maximum : 75 marks
"PART A — (10 x 2 = 20 marks) |
Answer ALL questions.
1.  Whatis primary mw«mw |
2. What is mwmncwun% polygon?
3. Write any two properties of arithmetic mean.

4, Define mode.

© 5. - Define range.

6. Write any two properties of a good measure of
variation. '

7. . Write the types of correlation.

10.

11.

When do you say that the variables are perfectly
correlated?

Write any two uses of regression analysis.

Write regression equation of Y on X.

(a)

" (b)

Hu%q.‘ B — (5 x 5 = 25 marks)
>.bm<<m~, ALL questions.

Discuss the classification and tabulation of
data.

Or
The following table gives the production:of
paper. (in tons) in India during 1950 and

1954. Draw a bar diagram to represent the
data.

Description 1950 1954
Printing- and writing = 70 103
.éum.cvgw 15 24
Special varieties 5 5.
Boards 19 13
Total . 109 145

2 . _ S.No. 234
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12.

13.

(a) The following table gives the monthly income
of 10 employees in an office.

Income (Rs): 4780 5760 6690- 7750 4840
4920 muoo 7810 7050 6950

Calculate the arithmetic mean of goosmw.

Or

(b) Obtain the value of median from the
following data of the monthly income of 10
employees of a company.

‘Income (Rs.): 4391 5384 5591 mpoq. 6672
6522 6777 6753 7850 T490

(a) - Find out the value of quartile deviation and
its coefficient from the following data :
RolNo.: 1 2 .3 4 &5 6 7

Marks: . 20 28 40 12 30 15 50

,_ Or

(b) Calculate - the mean deviation and its
coefficient from the following data.

. Class :. - 0-10 10-20 20-30 30-40
Frequency: 5 8 12 15
Class : 40-50 50-60 60-70 70-80

wnmn:m:o.% 20 14 12 6

3 . S.No. 234

14.

15.

(a) Calculate Xarl Pearson’s coefficient of
correlation from the following data.

Roll No. of Students :- 1 2 3 4 b
Marks in Accountancy : 48 35 17 23 47
Marks in Statistics : 45 20 -40 25 45

Or

() Two ladies were asked to rank 7 different

types of lipsticks. The ranks .given by them
are as follows.

Lipsticks: A B ¢ D E F G
Ladyl: 2 1 4 3 5 7 6
Lady 2: 1 3 2 4 5 6 17
Calculate Spearman’s rank correlation
coefficient.

(a) Find the regression equation of X on Y from
the following table.
X: 25 28 35 32 31 36 29 38 34 32
Y: 43 46 49.41 36 32 31 30 33 39
Or
() In a correlation study, the following values
are obtained.
X Y
Mean 65 67
Standard Deviation 2.5 8.5

Coefficient of correlation is 0.8. Find the two
regression equations that are associated with
these values. :

4 S.No. 234
P.T.0]
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PART C — (3 x 10 = 30 marks)
Answer any THREE n:mw.ﬂobm.

16. Draw a histogram for the following data :

Class : 100-110 110-120 120-130 130-140
Frequency : 11 - 28 36" 49
Class : 140-150 150-160 -160-170
Frequency : 33 20 8

17. Calculate the arithmetic mean, median and Somm
from the following data.

Class : 10-13  13-16 16-19 19-22 22-25
Frequency : 8 15 27 51 75
Class : 25-28 28-31 - 31-34 34-37 37-40
Frequency: 54 36 18 9 7

18. Calculate the standard deviation for the data

given below.
Sizeofitem: 3.5 4.5 5.5 6.5 7.5 85 9.5

Frequency : 3 7 22 60 8 32 8

19. Ten competitors in a beauty contest are ranked by

three judges in the following order.
Judge I : 1 6 510 3 2 4 9 7 8
JudgeIl: 3 5 8 4 7 10 2 1 6 9
JudgeIll: 6.4 9 8 1 2 3 10 5 7
Use rank correlation coefficient to determine
which pair of Judges has the nearest approach to
common tastes in beauty.

5 S.No. 234

The following table shows the ages (X) and blood

pressure (Y) of 8 persons.

X: 52 63 45 36 72 65 47 25
Y: 62 53 51 25 79 43 60 33

Obtain the regression equation of Y on X and find

" the expected blood pressure of a person who is 49

years old.

6 N S.No. 234
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(6 pages)

S.No. 2438 -17UMA03

(F01 the candidates admltted from 2017- 2018 onwards)
B.Sc. DEGREE EXAMINATION, NOVEMBER 2018. -
Second Semester
Mathematics
INTEGRAL CALCULUS
Time : Three hours

PART A — (10 x 2 = 20 marks)
Answer ALL the questions.

1. State Bernoulli’s formula for integration.
Asrensilyperear Qui@ereluier Gsrsms sag).

2. Evaluaté _[xze"zxdx.
LIS J-x2e‘2xdx.

3. Define Beta function.
LT #mTeny euenywim).

_ | 5, =y
4.  Prove that fe'“’y 1dxz—a[;..

f e ¥y"ldx = —I—; ereur B,

deimum 175 _marksv

10.

9

z ‘
Evaluate I cos(x + y)dxdy .

.4
]
.0
z
2

0
Z
2

- AHLEGGE chos(x+y)dxdy.
’ 0 0

11

Evalﬁate _[ Jx dz dxdy.
. 25
1

Oy ™

Y

: 1 11-x ’
AHDs j j x dzdxdy.
= 0,20
, - _ 4a 2Jax
Change the order of integration in I I dy d‘c
0 52
4

4a 2vJax

f j dy dx —@61) @g;fTGU)GSUSI_lq_GOT cuflengenws LomHY.
0,42/ :

Using the double integration, write the formula
for finding centre of curvature.

auaereilan  @LWSMS ST 2 Fad  GSITEMS,
@m_am_g, Qgmeraui L LwueTLESS sl

Deﬁne Fourier series.
wilwr GgrLey euenyum.

"Define half range cosine series.

ey 6i&s Qarensern QsmL_eny euanguim.

2 . w" S.No. 2438
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PARTB — (5 x5 =25 marks) 13. (a) " Evaluate ”xy dx dy over the region in the

Answer ALL the questions. ' positive quadrant for which x+y=1.
’V ‘ ~ x+y=1 agb Gurg Lé]meaanevmnmg,ﬁa)
11. (a) Establish reduction formula for I cos" x dx. ' ”xy dx dy-g wiu9@ps.
, 0’
% . Or
Icos” x dx —an GanpliLy G&SSTEMS H(mHe. £ B
-0 ) . . ) ‘ ‘g asind” g
: (b) Evaluate I j _[ rdz drdf .
Or . o0 o
(b) Evaluate jx" sin—;E dx. T - e s asina_°2 =

. LDQLHE]@\&;

o !_.NF*
o !_.

0
‘ _[rdzdrd@
Hug isinZ dx. °
wHUGAHs _[x Sini di

14:. (a) Find the area of the region bounded by the .

- ' Rt 2 _ 4 2 _
12. (a) Prove that l_(%):«/; SR A : i cHrves'y =4-x and y“=x.
: , P P ; ¥? =4-Xx LOHMILD y=x GTem
[__(_1_) N Blemi. MR ; euemeTeUaIE@EEEE — @eLuulL  ugHulen
Zv . v i = C L uplenus srars.
Or Or .
| g i ... " (b). Find the volume of the solid bounded by the
(b> Ry uate Je dx'~ _ | - surfaces x=0, y=0, 2=0 and x+y+2z=1.

x=0, y=0, z=0 ng')@nb_x+y+'z=1 GG
youuglysetmed LU ugdHuler  sar
S|ETENEUS SHITETTS. .

3 S.No. 2438 s 4 S.No. 2438
' i | [P.T.0]

LHUIAHS Ie‘xzdx.

0
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15. (a) Show that ;;:sinx—

sin2x sindx
+ —... for
2 3

all values of x in (-7, 7).

(-7, m)-6 x-em Greer: UL SEFEGL

x . sin2x sin3x
Z=sinx-— + —-...
2 2 3

eTansSTL(h.

Or
(b) Obtain a sine series for unity in O<x <.

0 < x <7 -6 1-an angen AsTLe0rd SIS,
PART C — (8 x 10 = 30 marks) -

" Answer any THREE questions.

16. Obtain reduction formula for f sin™ xcos" x dx .

gy

fsin’" xcos" x dx e G@DLILE GSSTE®S SH-
Obtain the relation between Beta and Gamma

functions.

Scem Lorj)gLB SO | ETTBERES QanL_Guwimen

Qsmirenu cu(mHed.

5 S.No. 2438

18.

el 9,

©20.

Evaluate joy dx dy where A is the doméin

bounded by the x-axis, ordinate x=2a and the
curve x> =4ay.

x—2i5H, x=2a eap GSSTWL wHmb xX =4ay

_ CTENM  GUENETEUANT&HETTE LU uEH A eaaile

'[ny dx dy —-& ngﬂll:@@a;.
Change the order of integration and hence

‘ a ,.bz_ 2
evaluate ﬁf ? xy dx dy .

Qg ranguL g6 aflemsou  wrHH  Osrasti®s
EE g xy dx dy .

. 9 4 . .. 4 !
If _'f(x)=(ﬂ;x) in (0,27), then show that .

’ 2 .  COSNX
f(x) = E + Zn:l n2 .

'f(x)z-v—x)z i “@ﬂsb"

(0, 27)-gé =

2 N :
T4 o COSnX .
f(x)= T + Zn=1 = eranssTL(. -

6 S.No.2438
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S.No. 2441 17UMAO05

(For .nrm, candidates admitted from 2017-2018 onwards)
B.Sc. DEGREE EXAMINATION, NOVEMBER 2018.
Third Semester
Mathematics

STATICS

Time : Three hours . S Maximum : 75 marks .

SECTION A — (10 X 2 = 20 marks)

Answer ALL the questions.
1.  Derive Eoﬁmbﬁom a force.
@ eflengullen SlmLiLy %egma E@qﬁ,,e_.
2. Define parallel forces. . .
@emenr cllanFenil euenTIIMI:
3.  Define a couple.

FpadlenemTeniLl UG-

<10

<§.§m_&mop:wﬁobomnwo::oomnrmwmmcﬁmsn .om
the system of forces. -

eflaneneflein gées Comlq 6 soamum el T(PEIS.

* Define friction.

Pq:&ﬂ.@@qﬁ,@. .

Define mbmwm. of friction.

2 mieys Gameanrid cuanywim).
Define .nmw&d of Gravity.
HeQuSiiy ewwgms euanum.
Define centre of gmmm.
Blepulen enowigeng cueanmwigy.
Define Work. ,

Geuaney cuanmuimy.

Define Virtual Work.

.

. &pls Geuanevaniul cuanywiny.
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- 11,

12.

@)

(b

(a)

SECTION B — (5 x 5 = 25. marks)

Answer ALL the questions.

Explain polygon law of forces.
elenguller @) enenTay G)S];ﬁu_(ﬂmcm lleu. |

Or
Explain Lamis theorem.

GavLBleiv Ggﬁmgmg‘aﬂmrﬂ.

Forces p,4p,2p,6p act- along the sides
AB,CD,BC, DA of a square of side a.

@) Prove that system reduce to a foi'ce of

magnitude p\/g ‘and
(11) Show that the equation of the line of

action of the resultant 2x-y+6a=0 .

with AB -
coordinates.
D,4p,2p,6p <pdu dagsdr ‘a’ LsHELI

sgITSSlen AB,CD,BC, DA
< fwee aufluns QeweuBélaTner siene.

and .AD  as axes of

USSHIGETITET

1) 'p\/g elenswns &@r&l@@mw@]m :
(i) AB, AD aw <§sssammss Csmar(

<gen gwetun® 2x-y+6a=0 eremmd

ST(Hs.

Or
3 S.No. 2441

13.

14.

(b)

(@-
' 2 rwellperer elfsmer erg)s.

®

(a)

b

For 3, 2, 4, 5 kg weight act along the sidesg
AB,BC,CD,DAof a square. Find their

resultant and its line of action.

AB, BC,CD, DA Q.IE@@UJ 3,2, 4,5 ACar erenL_

2 LW FEITSHD SiseemLw &manurr@ LHMILD
Camiig e gsmnu)mu_l &TETTS.

State law_s of friction.

Or

Discuss the equilibrium of a particle an a
rough inclined plane.

@@ Gem@emyiurer sl gargden Gué )
Qummafler siegadn Hlevaamu efleur.

What is the c.u of a thin triangular lamina?

QLDGbGlS]u_Ilb@éEGBSITGW &&L_1g.6n L{QS] FFTLIL enLOWILD
erement?

Or

What - is the CG of grav1ty of t:hxee rods
forming a triangle? -

eLp eIt siflsemmed 2 (HEUTESLILIHD

W&Caramsdlen LelIFiliL] enduISemns STems.

4 . S.No. 2441
. [P.T.0.]
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15.

16.

i Iy 8

(a) Derive work done by the resultant force.

eflenare) elensulen Geuanev qu}u_lm u@é,]@nu_l
SHel&s.

Or

(b) Derive direction of the force and also write
the particular cases.

’ ;_f,]sm&uﬁ]m Aevsufienar eflerid S|Be @@ulﬁ]u_
U@GSHenw eT(Lpgis.

SECTION C — (3 x 10 =30 marks)
Answer any THREE questions.
State and prove I-)olygon law of forces.
engsafler LiewGamesr eﬁ@mu_l GT@‘Q Flmeys.

If two couple whose moments are .equal and
opposite act in the same plane up or on a r1g1d

 body prove that they balance one another.

@Cr  sarsded  Qswdu@Slenp soadi  Hmuys
Hpansmers  Cemer @0 gots  SLpedlenanTaer
gerep@uimeny @ CFIuLD eTar Blmieys.

5 S.No. 2441

T e gy e 7T R U e T T N R T R M S SR R T A

19,

18.

Explam the equilibrium of a body an a rough
inclined plane under any force.

58 @0 eemslean S syeanons smigeTsHed-

QuikiEd Qun(r_}jerﬂaﬂ gwloamwu elaréss.

Derive C-G of a trapezium.
@m sfleussSer Lelmily ewwidamer srers.

20. Derive any one omitted force of virtual work.
gHTUG R ﬁa;a;ev clensilen &HL9S (Beuana)mu_v
6]96‘”153@85

6 - S.No. 2441
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(6 pages)
S.No. 2149 17USTAO05

(For the candidates admitted from 2017 — 2018 obému.mmv
B.Sc. DEGREE EXAMINATION, NOVEMBER 2018.
Third Semester
Allied — BIO-STATISTICS

(Common for B.Sc. Biochemistry / Biotechnology./
Microbiology) |

Time : _E.ﬁ.mm hours gmu&_BzE - 75 Bmwwm
| PART A — (10 x 2 = 20 marks)
Answer ALL questions.
& Mention any two uses of statistics.

2.  What are the demerits of schedules sent ﬁﬁosmw
enumerators?

3. What is a class mid point? |
4.  Whatis the use of multiple bar diagram?

5. Calculate the mode, if the median is 4 and the.

mean 1s 3.76.

/

6.  Define Co-efficient of variation.

7. Mention any two merits of Karlpearson’s
co-efficient of correlation.

Scanned by CamScanner



13. (@ Calculate the mode from the following series:
Size of Item: 0-5  5-10 10-156 15-20 20-25

Frequency : 20 24 32 28 20
Size of Hﬁmi : 25-30 30-35 35-40 40-45
" Frequency : 16 34 10 8
Or

(b) Compute the geometric. mean of the
following series.

Marks : © 0-10 10-20 20-30 -30-40 40-50
No. of students: 5 7 15 25 8

14. (a) . Calculate coefficient of correlation from the
following data. R

x: 12 9 8 10.11 138 7
" y: 14 8 6 9 11 12 3

Or

®) F noi the following data calculate the rank

correlation  coefficient  after — making
adjustment for tied ranks. .

x: 48 33 40 9 16 16 65 24 16 57
y: 13 13 24 6 15 4 20 9 6 19

3 ' S.No. 2149

15. (a) Intelligence test-on two groups of boys and
girls gave the following results.

Mean SD N
Girls .75 15 150
Boys =~ 70 20 250

Is there a significant difference in the mean
scores obtained by boys and girls?
(1% = 2.58 S.E)

Or
() AnlIQ test was conducted to 5 persons before

and after they were trained. The results are
given below : : :

1Q before training : 110° 120 123 132 125
In after training: 120 118 125 136 121

Test whether there is any change in 1Q after
the training programme at 1% ([tyq, = 4.46)

PARTC—(8x10= 30 .anwmv.
Answer any THREE questions out of Five questions:
16. Discuss the sources of secondary data.

17." Describe the types of diagrams.

4 ~  S.No. 2149
. [P.T.0.]
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18. Calculate mean and standard mmimﬂ.ob.

19. Obtain the regression of Y on X and X on Y from
the following table and estimate the blood
pressure when the age is 50.

Value

More than 800

700
600

500-
400

300
200
100

Frequency

14
44
96
175
381
527

615

660

Age Blood pressure Age Blood pressure

&)
56

42
72
36
63
47

)
147
125
160
118
149
128

&)
55
49
38
42
63
60

)
150 -
145
115
140
152
155-

S.No. 2149

20. A certain drug was administered to 500 people out
of a total of 800 included in the sample to test its
efficacy against typhoid. The results are given

below :
Typhoid | No Typhoid | Total
Drug 200 300 500
NoDrug | 280 20 300
| Total 480 320 800"

On the.basis of these data, can it be concluded
. that the drug is effective in preventing typhoid?

[Given V=1, .\,«w =.0.05 ='3.84]

S.No. 2149

Scanned by CamScanner



(6 pages)
S.No. 2442 17UMAO06

(For the candidates m&b;n,mm m.o.E 2017-2018 onwards)
B.Sc. DEGREE EXAMINATION, NOVEMBER mon..
Third Semester
Mathematics

Core — DIFFERENTIAL EQUATIONS AND,
LAPLACE TRANSFORMS

Time : ,E:.mm hours Maximum 75 marks
PART A — (10 x 2 = 20 marks) |
>:m$.~,m~. ALL mzwmﬂob.m.
1. Solve : AUN - N:U + Sm.v.w =0.
Eiiés : Abm —o2mD+ Ew.v.e =0.
9. Tind the P.I of (D? +4)y =2,

Aﬁw + »v% =x? aranugen SpLius dsmms srams.

Ewa the - complementary  function  of
Ap. .bk.i“bivu\ =logx.

.Aambw+xb+§,u~om& aranugen  Hgly  sfeu

TREIS.
e d2y dy
Find the PI of x* == —2x—=-4y=x".
BETAEE dx? R&R i
2
RNMIWIMRWRI%%HR,» aaugen  fpuy  Qsrens
x x .
STEHTS. :

Find the complete solution of p®+g*=1.
pE+q? =1 erénusén s STeal aT(PEIs.

Solve z = px+qy+2+pq .

Eige z=px+qy+2+pq.

Find L{t* - 46> +3).
&ir %m -4t +&.
Find ().

g&mla vw RS SIS,

2 : S.No. 2442
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Pind L1 —>=3 u :
. (S- 3) +4

I~ rm.l.m . .
h - SF+d %m&:@ﬁ&.

1
. h.
HO Hﬂwb@ ﬁjw
LY — L & HTEHTS.
S +a)) B .
PART B — (5 x 5 = 25 marks)

Answer ALL questions.

11. (a) Solve ﬂbm +4D+ wvv\ =e* cos2x.

| Eirés Abm +4D+ wvv\ = m.x,no,mma.

. - . Or

() Solve AUM +D- mvv\ =%,
Eirés AUN +D- mvk = %y’

m
(a) Solve x* M MH +2y = sin(log x).
x?
2
Sige x° .&|+N§ MM +2y= mwscomav..
Or
3 . S.No. 2442

13.

14.

2

(b) Solve AH+RVNM||+G+RVMM+Q _omﬁi&
x

= 2 &N dy ;

Sirises (1+x) T +Q+av&a+v\|€mﬁ+xv.

(@) TFind the complete and .E:m:.ym« solution of
z=xp+yq+p°-q°.
z=xp+yq+p’—q° eenm swaUT GE PWS
Sy LHMID @HEDS Sieneud Hrems.
’ Or
(®) ~ Solve b@ + Qv =qz.
Srée ﬁ@ + Qv =qz

(@) Find AH .IW w

hq “m u %wm:&z&.

ey 4 Or

(b) Evaluate _.Nmé mw.:”& by using mewS
] :

' transform.
[ (TN (2 2 (HLTHDSSen . o gefluyLen
._‘“mé sintdt mé snamns.
0
4 S.No. 2442

g e i ~ [PT.0]
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. 1 1 !
15. (a) Find L hmﬂm,+pxm+wvv. -

16.

17.

L! S S @& SIS
S(S+1)S+2) .

Or

. g S*+9
(). Find L1
®) ! omhm +L

S?+1

L womﬁm. +ww D HIEHTE. : 20.

. PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
Solve Abw +Hve =x2cosx.
Eiiés ADN + Hvu\ =x"cosx.
mo?m.N

@13% wgumaml.ai.
dx :

&

- Biss @1% @imv b a6y= mxw..+ 4x+1.

5 S.No. 2442

18.

19.

: EE%E@.&% |+ %

Solve Axu |w\mv§+ CN INRVQ =zt~ xy.
Siée AHN

(a) Find h@u nommL.

|QNV.=+AQM ln&vn =2%—xy.

() Show that L(/())=— 5@
(<=1) hﬁwm cos mhv Qb snens.
<) LE/)=- R\ (t)) erény e 9.

Using Laplace transform solve the equation

‘Nx
&u %+wa 2¢™ given y(0)=0; y'(0)=-1.

dt? dt

on 0, eﬁov|1~ erafléd eorlioman . P@E:GB.@%@E.

dy

T +13y=2¢™ g §ités.

6 _ S.No. 2442
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S.No. 2069 HQGEON_.

(For the candidates admitted from 2017-2018 onwards)

B.C.A./B.Sc. DEGREE mggHZPHHOZ.
NOVEMBER 2018.

Second Semester
.\w:mmm Mathematics — 11

DIFFERENTIAL EQUATIONS AND LAPLACE
TRANSFORMS

(Common for B.C.A./C.S./Geo./
App. Geo./Ele./Phy./Stat./Che.)

Time : Three hours : | Maximum : 75 marks

HNPHSJ A — (10 x 2 = 20 marks) .
Answer ALL the ac.mmﬁobm.

0 (x, y)
8(u, v)

I Hm,.an_alc and y=u+v find

a(x, y)
o(u, v)

X=U—U LHnLD y=U+U erefle 06 SMEHTS.



8. Prove that L(c/(®)=cL(f(), where C is a
. constant. - ..

C m wrhel eraflés L(cf(t)) = cL(f (1)), erem &@rg

. Find I 2L
w n hﬁm+mvmu ,

.- m+H‘ ...A
h thvlb %mgqaﬂm.

10. Find .ih = w
: 45" +2

hu_ hm.ﬂwmﬂMW %wm:&aa.

PART B — (5 x 5 = 25 marks)

Answer ALL the questions.

m .
11. (@ If :nw.cua|,8n3+.e+mu\w then, find -
x y L
o(u, v, w)
a(x, ¥, 2)
1 : -
:nl,cnwu8n3+w+mwm erafley m?_,.c,sv
x y o o(x, y,2) :
-0& GTE0T&.
Or

3 B S.No. 2069 |
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S.No. 2436 . ’ 17USTAO1

_ (F"or the candidates admitted from 2017-2018 onward's)'
B.Sc. DEGREE EXAMINATION, NOVEMBER 2018.
First Semester
Mathematics

N MATHEMATICAL STATISTICS

Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer ALL questions.

£ 1. Define a Random variable.
UEpTWIM): TeRTLLD LoD,
2. State any two propertl;es of a Distribution
function. '
uyeuc snmier gCaauid @M UL Smer saf).
3.  Prove that E(C)=C.

E(C)=C eran flemd.

- .10.

-, aselymib 2ENLDWYLD

State the Additive property of. Poisson

distribution.
LmiieumeT Leuedlan sal-L e Ligrmilenar e1(pg!s.

Find the area under the standard normal curve
which lie to the right of =z =2.70

[P(0<z<2.7)=0.4965].

Quéahae  HlL -aumaraueyuded 2 =2:70 -6
ugtiSenens BT

[P(0<z<2.7)=0.4965].
Define ‘t’ distribution.
‘t’ ureuane euETWIMI.

What is positive correlation?

Grirompuner @U (Hmey eTempTed cremen?

Define Regression.

2 L et Qgmmlenar euanyigy.

State the principle of Least squares.
B&flmy eundagSlen Qamdransuilanar eT(psi.

Write the normal equations of fitting a straight
line.
L

- GpiGsm() @un@ggﬂgaﬂs&r Queflene sweLT(HEaeT
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PART B — (5 x 5 = 25 marks)

Answer ALL questions.

11. (1) A continuous random variable ‘x’ has the
following pdf.
f(x)=38x% for 0<x<1

=0, 'othgrwise'

Evaluate the following:

@ P(;géj |
i) P(Binrsé).

x erenm Qs &msuﬁu‘.u.‘:q wrhléaner Hlepsse]

QLigdles  smiy - ereflld - Spsramueupen
saTES (DS, .' | :
- f(x)=8x% for 0<x <1
=0, wppuy

erafléy Sparemrueunanp semaA (.

. 1
“ P(“E) |
(ii) P(sl <x< 21)

Or.
(b) Explain the marginal distributions. ’

efleflbLy Leuchaear afeun. _
-3 S.No. 2436

12.

13.

(a)

(b)

(a)

(b)

A random variable x has the probability
function as follows:

x: -1 0 1
P(x): 0.2 0.3 0.5

| Evaluate () E(3X +1) (i) E (X”)

X @b FTERTL LD wrf) Epsramid ‘rf;]a;xng,aam
grmllena Qamem (Herers).

X -1 0 1
P(x): 0.2 0.3 05

aafle> () E (3X +1) (i) E (X?)-g snas.
. Or

Derive the mean of the Binomial

_‘distribution.

rFGHMOY ureuedlan syreMenw smed.

State any five properties: of Normal
distribution. .
BudBlenels Lyeuader gGa@ib mbs LaTLS@meT
TP . : '

Or .
Obtain MGF of chi-square distribution.

DEUTESL uususﬁ\m dledst QumsEs Qg,rremea
2 (e rra;@m FTTENLI DienL&.

g . S.No. 2436
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14. (a) Find the co-efficient of correlation between x
: and y from the following data.

Epaseir aﬂmu@'&mﬂé&@‘_ﬁ,@ X wHmb ¥ -5
- e Cuwnar gl GpeysAspeimen srems.
, . Or
(b) State the properties of regression
co-efficients. :
2 Len Qsmiiyé Qapsaeien Lamysman (s,
15. (a) Explain the method of fitting a second
' - degree parabola.
Bmuy uF ueeTeuamren QUMHSFID penmeni

clers @ s.
Or
(b) Describe ﬁhe method of fitting the curve
Y = ae’*.
Y= aeb* Tt  Guemeneueny  QUTHSSID
wenmulenar aleui).

PART C — (3 x 10 = 30 marks)
Ansv_'_ver' any THREE questions,

16. A continuous random variable has the pdf -

6x i—x, ‘(')st'l
f(x)= {-) .
0, otherwisc

Determine ‘b’ such that P(X <b)=P(X>b).
5 S.No. 2436

17.

18.

19.

L e VT

@0 Gignu'r soaumiiy nh Spergyn Hepssel
Frimnlenar Qamer Hemerg .
6x(1-x), 0<x<l
0, LOHDLIIg.
P(X <b)=P(X >b) erafle> ‘b’-ar wflieuL sreirs.

f(x)={

State and frove Tchebychev’s inequality.

Qs9Q@sa swaflelann er(pdl Hmeys.

In a norn_lal distribution, 31% of the items are
under 45 and 8% are over 64. Find the mean and
variance of the distribution.

@ QuoBlmelt uFeueia 31% e miyser 45-&6@ S

8% = plser 645@ Cugud odterar. oigar synafl
LHMID MU STers. '

Find the liné of regression 'of Y on X.

' Y 123 4 5 8 10
X 9 8 10 12 14 16 15

X -anGwa Y eraniid 2 e Qzm_iiys Caml_eL snems.
Y 123 4 5 8 10
X98i012141615

6 ’ S.No. 2436
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20. Fit a straight line to the following data.
“Year: 2000 2001 2002 2003 2004 2005 2006 2007

Sales: 38 40 65 72 ° 69 60 87 95

SLpaevTL. éﬂmrytﬁjaé@é;@ CrprCam_yemer QUIMHEEis.

QBLLD: 2000 2001 2002 2003 2004 2005 2006 2007

efpuenen: 38 . 40 65 72 -89 60 87 95

7 S.No. 2436
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